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Full Marks : 80
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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
oS IR ot Pk e fia

(a) “‘My consciousness is the means of revealing
myself as something existing.”” State the
typical phrase used by Descartes to express
the statement.

“ER TR 30 G SR¥ENe el B ([
PPN T TAM 17 (TR T9E 9T Qoo
PRI AR FARR AP <671 |

(b) Does Descartes believe that the existence of
the self can be known with certainty?

(OIE ORIz FFvesa wfm =R 3
SIffReTe ?
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(c)

(d)

(e)

(1

(g)

(h)

(2)

Name the philosopher who is known as a
typical dualist.

Remeia cassm wrfie Roret e e
T o 1

What is the essential characteristic of matter
according to Descartes?

CORI63 TCo “MIA ST | 2

Name the philosopher who made the
following statement :

“Human mind at birth is essentially a tabula
rasa.’”’

oo il Sfeam o e ol 2

G S AR ¥ RE “@F (tabula
rasa) 3 7ed €2 ACF |

Leibniz conceived substance as a centre of
force. What is the nature of this force?

ferRfAsa 0o w3 tzez e (force) @ | @3
&4 e %9

What is a ‘monad’?
e’ (e #719) T Qa2

What is the fundamental weakness of
Spinoza’s pantheistic philosophy?

Pofeeam S w9 31 o s 2

(3)

(i) What are the two attributes of substance

according to Spinoza which the human mind
can know?

oI oo ez s °I91 T34 3 451 f 3 2

(i) Descartes/ Spinoza/Leibniz was branded as
a hideous atheist.

(Find out the correct answer)

CEII0 /et /forfte 3 o FOR TR gfer
TSR 91 (2f%e |
(o= Tesco1 Ao Sferear )
2. Give short answers to the following : 2x5=10
7S fACaTee by Ty Ry
(a) What is pantheism?
LA 5 2
(b) What is a ‘sleeping monad’? Why is it called
so?
Tfere fos e’ 5 2 S ey e’ 3ot
27 ?

(c) What is ‘universal mathematics’? Explain its
meaning with reference to Descartes.

STER sfTe’ &2 (RIS 2T AR W<l 27y
0|
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(d)

(4)

What do you mean by the term
‘Natura-Naturata’?

‘Natura-Naturata’ {T?'IF-’F < @il ?

(e) In what sense monads are called

3. Answer any four of the following :

Te\9

(a)

(b)

(c)

8A/119

‘windowless’? Explain.

fos FAIPRRe ‘RSIRAT o o0 cprmr =212
RUBUESIN

5x4=20
AT & e vifeR Teg fas

State the four rules laid down by Descartes as
part of his method of philosophizing with a
brief explanation, 4+1=5

TP Tafoq S BoIee (ePIch SISRCRT o
BIR0I 59 WIR e SEy 4 |

What is the nature of Descartes’ doubt?
Distinguish it from psychological doubt, 1+4=5

I (269 M AT NS Teay w4
R oS 62 (el Towr! W T
BEEERIECR K nt kT

What are the two independent substances
according to Descartes? Why there cannot be
areal relation between the two? What are the

two ana%ogics used by Descartes to explain
the relation between them? 1+2+2=5

( Continued )

(d)

(e)

(1)
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(S)

CSIB9 CS Y51 Foq G A SCas 4 | G PR
TS I 25 T R 2] GIRI 7 @ 70
TR qES R FER I IR A ORI
Trad <541 o o] 7 16 2

Explain Spinoza’s statement that ‘every
determination is a negation’? 5

‘Every determination is a negation’
(P Regm o 2 SReRe’) PAcTER
e 1 3 Sfecor =i F491

What is the meaning of causa suias applied to
God in Spinoza’s philosophical system? Why
did Spinoza denied the concept of a ‘creator
God’? 3+2=5

PRoTa e R CFge Aael ¥4I causa
sui @ 9 o2 gmm Sjeel’ o TS
g {9 PerTEiR (78 SRR $RE?

Write a short note on the different categories
of monad as laid down by Leibniz. Why is
God called the ‘actus purus’? 3+2=5

forfize Seay <1 o AP RfSA 29w
FWBﬂcﬁmﬁfﬂiWﬁWﬁ?ﬁﬁ‘acmS

purus’ f TSR SRR ?
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4. Explain critically cogito ergo sum as found in

Descartes’ philosophy.

(SFI04 TfT© (1 cogito ergo sum FHE GF
STHICEATATRIE 0TI SHISECCIT |

Or / 731
What is cogito ergo sum? Explain the importance
of the cogito in Cartesian philosophy.
Cogito ergo sum &2 (S103 TS cogito I BFF
IR AT |

. Explain Descartes’ method of philosophizing. Do
you think it to be perfect method of philosophy?

10

6+4=10

COPIH SARCEHT AE SpTe &S Ao
SSRCEA] | G2 EoF TR @ ¢F o Amfe el
SHIC ?

Or / 31
Give a critical account of Descartes’ views on the
relation between mind and body.

T (IR S 1R TG (U100 HSRCGIRT H[E 9
STHICATOATRIS 3¢+l SSRCEHT |

. Explain the doctrine of attributes and modes after
Spinoza. Do you think he was successful in

explaining the world?

10

10

( Continued )
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PoEER @1 I 9 (attributes and modes)
TP OGO G 1 ST | SO 171 I
CFaS RS Fel (20R e SR 2

Or / <1337

Give a brief account of monistic philosophy of
Spinoza. Explain why Spinoza’s philosophy is said
to be pantheistic?

PocmaE Fef R 9% 5y I SR |

PoarER v WW{% PRI =¥ 2 140
A1

. Explain the doctrine of pre-established harmony

of Leibniz.

feraficss SsreeR Sored sK-Simire X ety
TSATTCHT A 1 |

Or / 1331

Critically explain Leibniz’s theory of monads.

ferafice SeReeEr for R =R wenR «w
STAICEOATES 1T SR |
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